I. Fill in the blanks. , [ it e

a. In 49 8)52 610, the place value of the ringed dlglt’

£liin e 3hoy q=.5 200 3/\§"(?
b. 5 000 000-+200 000+00 000+0000+400+30 +t_ e mber
C. Insert space to express 725895213 in Internd 10

system. . Ao LN o |
d. The predecessor of 8 001 001 is_,'.'-.,,-‘rr //
e. The successor of 2316 999 is -« ——="""

2. State whether the following are true or false. )
a. The predecessor of 60 000 000 is 60 000 qqq. ( j

b. The successor to 189 561 100 is 189 561 200. ( T
¢. A number at one million place has six zeroes on its rig t (L)
d. Place value is the value of the position of a digitin a number,

e. The place value of 6 in 10 682 817 is 600 000. (

3. Select the correct answer from the given options.

a. The predecessor of 61 5999 is
O 6015999 O 6115989 © 6115998 O 6 116 000

b. Eighty million, four hundred and ninety thousand in figures is

O 80 490 000 O 80 400 9000
(O 804 900 000 @»8 049 000

c. The successor of 54962 |11 is
O 55062 |11 O 64962 111
O 54962 101 @ 54962 112

d. 8 463 110 written in expanded form is
O 8+463+ 110
@ 8 000 000 + 400 000 + 60 000 + 3000 + 100 + |0
O 800 000 + 400 + 60 + 3 + 100 + 10
(O 800 000 + 40 000 + 6000 + 300 + |0
e. The predecessor of 7 843 002 is
O 7843001 O 7 834 000
@ 7 835 002 O 8834 003

4. Write the given numbers in words.
a. 3 000 000 b. 140 000 000 c¢. 217 ggo 000 d. 50 000 000
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Write in figures with correct spacings.
a. Nine million b. Twenty four million

¢. Seven hundred and five million d. Ten million 9 hundred

Write the given numbers in words.
a. |1 289 056 b. 27 389 100 C. 613421 005 d. 497 560

Write the place value of the circled digit.

a. 7\8 9 452 100 b. 14.0)09 838

C. 25\6\ 943 100 d. 86 24.7) 120

Write the predecessor of:

a. 60 129 808 b. 497 215010

C. 256 943 100 d. 630 713 455

Write the successors of:

a. 146 780 000 b. 59 899 989

c. 871 600 009 d. 106 343 201

Write the numbers in expanded form:

a. 7200017 b. 83 153 206

c. 917 245 985 d. 164 205 789
. Fill the blank with >, < or =.

a. 6 984 529 = 6 894 529

b. 45 800 100 / 45810 100

c. 359412 025 359 412 125

d. 6 800 152 — 6 800 152

e. 100 985 263 Sy 99 Q985 265

Write numbers that match the following expanded form.
a. 6 000 000 + 900 000 + 20 000 + 5000 + 000 + 20 + 7

b. 78 000 000 + 50 000 + 7000 + 600 + 50 + 3
c. 400 000 000 + 30 000 000 + 7 OOO 000 + 90 + 6

Arrange the given numbers in ascendmg order.

a. 45 298 653 ; 45 288 653 ; 45 308 653

b. 7011262 ; 70 111 162 ; 7002 162

Arrange the given numbers in descending order.
a. 69 245 823 ; 69 645 823 ; 69 045 823
b. 10 153 215; 10133 215; 10 143 215
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